7ri-fmb (7926) M17 L=450
HES "y b

Q§>8m C§1W

>,
HO<>

300)
iy R 00200
L
D10 @100 - _
\\\: 0
1’ 2 - =
1) (2) DI 5
2890 2890 10 s =
o o _ 5 =
S a 2\ —
e = —— s 100 800 100
- ~  —— b—
i~ =l = = P F 1%
174 = TA=§wb (2 W12 L=450 o=
= 1 =1 = Tvh—Ewb (7976) M17 L=450
ES ) ) AEG "F)y b
= Th=8mb (79 24) o = . (%g) .
U2 L=450 7vh-Rwh (797) = =
— =] T
= robgurGof) MIDL=450 8 e 5 oL = D10 6300 | |7
&y} 770 S N _
& ‘ = | DI0 L] =
- =212 e mad T
- o [ B - — — =r
F i F 1 F 1 Tl =
1-D1 D10
400
2890 2890 D10 @300
5780 _EG 1%
% () ATERFG2%5RT
| EmEeN 120 |
| E@RE 135 |
“EHHES 30kN/nf
2 B&ENo. ZENo.
HEEZ wE :jc%é
[ERR—ZNYT R KKS 2015
m _ AR | BN | BN |NE
ERARR - ERFEN H5DHA10051A
R 1 /35 | fiFAB B 74 FEMTEKRRNSH




